SIRAAUS ISID 3lofAellol ud USISIvI ufdug, Acht
a1t u3leim 2023-24
st Ul U3l (d8ddicud)
Model question paper (Objective)

FET: 11 [ELEEE UKD q97- 1 5 quTie: 40
Class :11 Subiject : -Geography Time -1 hr Full Marks : 40

qrHT fAder -
o %l 40 77 2

There are 40 questions.

o THT ToT STy |

All question are cumpulsary.

o ST WT o TorT 1 sisk Megiia g

Each question carry 1 marks.
o T WT o ATY fahed (U T g | Fal foshed &7 94 Fiford|

There are four alternatives for each question. Choose the correct one.
o AT I o ToIT FlE ik AT Hle AT |

No negative marks for any wrong answer.

1. W ST % FHdG SR I (e SETAedr § Tafd AT ?
a. AAFET AT gFlee b. Frer X

c. T d. Z7 75 T

1. Which geographer promoted the systematic approach to geographical study?

a. Alexander von Humboldt b. Carl ritter

c. Eratosthenes d. None of these
2. Maferfaa & & i |7 o Ffersd SEwr F7ar g ?
a ATHTSTIE b. zfagm®
c. ATaITE d. T

2. Which of the following subjects does temporal synthesis?
a Sociology b. History
c. Anthropology  d. Geography
3. qedt 7 o A sivere g Rraet 22
a. 14 :IE 95 919 98 g1 b. 15 TS 96 AT 97 TATL

C. 12 T 94 T4 96 TSX d. 16 FITE 98 91T 94 A
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3. What is the average distance between Earth and Sun?
a. 14 crore 95 lakh 98 thousand
b. 15 crore 96 lakh 97 thousand
c. 12 crore 94 lakh 96 thousand
d. 16 crore 98 lakh 94 thousand
4. 9% 9 7 A 1 TT A ATIHSH F (HATT F HOTeT § AT Tl © ?
a. "IT 94 b. ¥ IS
c. fAdew d. STRTT T[T
4. Which of the following elements is not helpful in the formation and modification of
the present atmosphere?
a. Solar wind b. Gas emissions

c. Differentiation  d. Photosynthesis

5. Zferoft shiet § | 1 @t et Tedt 82

a. 2 - 3 AT, b. 3 -4 .

c. 5 - 6 fhHT, d. 7 -8 fhHT
5. How deep is South Africa's gold mine?

a. 2-3km. b. 3 -4 km.

c. 5-6km. d.7-8km

6. ECATHUTT T AT TT (e T THLAET TL FH 41 gl 872

a .J=AT & O % HET

b . T=at % THRHAT & FHLO

a. AT % g % ATE - T TH gal gl & HIeor

b. gaf 9T ATATAT % I & FHIL

6. Why is the force of gravity greater at the poles and less at the equator?

a. Due to the rotation of the earth
b. Due to the rotation of the earth
c. Due to hot air around the center of the earth
d.

Due to year round ice at the poles

7. TITHES i HIeTs AT TgTs fhadt gl g2

a. 200 fHT. b. 400 T,
c. 100 . d. 300 .
7. What is the thickness or depth of the lithosphere?
a. 200 km. b. 400 kms
c. 100 km d. 300 kms
8. TN H €At T & THIT T ATAT T FIT FEATAT 572
a. JrIfi T b. faet=r® T
c. AT T d. FqIF 4T

8. What is the wave that travels underground like a sound wave called?
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a. Primary wave b. Secondary wave

c. Tertiary wave d. Quarternary wave
9. RaFe Thel & FAT |TIT STAT 87
a. T ¥ =TS b. g #¥ T

C. AT #hl TgaTs d. T T F e ATeAT g
9. What is measured by the Richter scale?

a. Height of mountains b. intensity of earthquake

c. Depth of the oceans d. Damage caused by seismic waves

10. “HETEM faeame [fgia” |99 1912 § fFad yearad &Har?
a. TS AT b. FSATEH Ao TIE
c.g e d. qrT
10. Who proposed the "Continental Drift Theory" in 19127
a. Alfred Wegener b. Abraham artelius
c. Harry Hayes d. Morgan

11. feaTEe e ThTe T 929 87

a. AAATET A b. U= Fg™
C. FEATART =TT d. FST TS
11. What type of rock is Tillite?
a. Sedimentary rock b. Igneous rock
¢. Metamorphic rock d. Sheer cliff
12. “ARTE T8l ¥ fAeaqr” 7 afaed T e Soqd 6172
a 9 2 b. sieihe AT
C. TATEH ARHATH d. 3T g
12. Who presented the hypothesis of “ocean sub-land expansion”?
a. Harry Hayes b. Alfred wegener
c. Abraham Artelius d. Arthur holmes
13. T Tl o (Referted § 7 e qeefad 82
a. I2AT &1 TIHH b. J==T FT oI
C. EATHYIT d. | aq
13. Polar flying force is related to which of the following?
a. Earth's rotation b. Earth's rotation
c. Gravity d. Tidal force
14, et o & T 97 UF Shiaa Thar 5?2
a. e b. SATATHE AT
C. TeA A=t d. sra¥as

14. Which of the following is a sequential process?

a. Deposit b. Volcanism
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c. Distrophism d. Erosion
15. e & | T T<elT § T STTeqa TohaT AT STaerd TihaT il STIeT STarh erfeparett
BT e ?
a. 3z TaeT b. S5 Waer
C. FAT -TqT T d. fRwee w=er
15. In which of the following regions, chemical weathering process and
mechanical weathering process take place ? |s more powerful than?
a. Andhra Pradesh b. Dry region
c. Limestone region  d. Glacial region

16. fwferfera & & fraet ST 9% sttt st /7T F9707 greft € 2

a. 90 fF. b. 100 f.
c. 120 fhHT. d. 150 .
16. At which of the following altitudes is the amount of oxygen negligible?
a. 90 kms b. 100 km
c. 120 km d. 150 km.
17. 70 & & T srerter o= 21 S 1 F10€X A gF 0 ot | 1eft aE<dt 22
a. a9 9 b. 23.5 f=Hft Ia< srerier W%

c. 66.5 =31 aferft sreqter u= d. 66.5 =T Ia<T steavor w
17. At which of the following latitudes does the sun's rays fall directly on the afternoon of
21st June?
a. On the equator b. At 23.5 degree north latitude
c. At 66.5 degree south latitude d. At 66.5 degree north latitude
18. AT IO FHfcaelTT ATHHLIT & Fgl aaT 87
a. 30-60 f=3ft 3L ey #
b. 30 =3t 3adt sterier & 30 =t aferoft sterior & #ex
c. 30 - 60 =3t =ferft e #
d. 60 T=3fT 3aT steqver & 90 T=RfT IALT sveqver & e
18. Where is the intertropical convergence zone formed?
a. 30-60 degrees in the Northern Hemisphere
b. Between 30°N to 30°S latitude
c. 30 - 60 degrees in the Southern Hemisphere
d. Between 60 degrees north latitude and 90 degrees north latitude
19. FHEAA 9T ATLRTT ohaar grar g ?
a.1013.25 fAferae b, 898.76 fAfera™
c. 1005.13 faferam= d. 1013.95 faferam=
19. What is the air pressure at sea level?

a. 1013.25 millibar b. 898.76 millibars
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c. 1005.13 millibar  d. 1013.95 mbar
20. SSTRICHLTT FHATT il ACTAT H o ATH H SATAT SATAT 872
a. gier b. TTEA
. fareft - Frefier d. TE
20. By what name is tropical cyclone known in Australia?
a. Hurricane b. Typhoon
c. Willy — Willys d. Storm
21. fforfaa Yohe o aTaeli | & ATR1T § qa9 SAT 97ad Hid — a1 g ?
a. &7 7 b. a9t "=
c. T d. FTET 7o
21. Which of the following types of clouds is the highest in the sky?
a. cirrus cloud b. Nimbus Clouds

c. Stratus cloud d. Cumulus clouds

22. JAT o G & [ohe a1 T SEd aTueh aradT ohadr g ?
a.14 == b. 15t &
c. 16 f=fr . d. 17 f==fr &,
22. What is the average annual temperature of air near the earth's surface?
a. 14 degree celsius. b. 15 deg celsius
c. 16 degrees celsius d. 17 degrees Celsius
23. STAATY o A0 F TS FHIUA %0f TZId T ShH AT ST Tl T 62
a . AILH b . =affaq
Cc. SAfA® d. FIATES

23. Koppen's method of classification of climate can be expressed as?

a. empirical b. Systematic
c. Genetic d. applied
24, ATHTAT: G HGTERIT il AGUAT Toha el gial g ?
a.33-37% b. 40 -50 %
c.25-30% d. 15-30 %
24. Generally, what is the salinity of the open ocean?
a.33-37% b. 40 -50 %
c. 25-30% d. 15-30 %
25. 99 § & T A7 999 Il AgMNE g ?
a . figwg wgmme b. sedifch AgMNR

C. HATHICH AgramT  d. TeId AN
25. Which of the following is the smallest ocean?

a. Indian Ocean b. Atlantic Ocean
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c. Arctic Ocean d. Pacific Ocean
26. ST AT @IS Fal A g ?

a . FwAreT b.U.S. A
C . TATERT d. sferer=ar
26. Where is the Bay of Fundy located?
a. Canada b. US.A
c. Alaska d. California
27. J=ft 9T ATH T HAT F g1 & ?
a .3 STa<r b .4 AT
c.33aTs d . 4 SHad
27. When does the aphelion occur on Earth?
a.3 January b. 4th of July
c. 3 July d. 4th January
28. W SAATIAF =T & [6E TS & FH {9 g 2
a ZrarEvRT b.ErraTaE
C HTIfer e d FTeRfea
28. To which species are humans genetically related?
a. Homoerectus b. Homosapien
c. Mongolian d. Caucasian
29. STEA T 3AT & FeT9T SHeh! ATEA T Gl (hawl & ?
a. 3014 . b . 3214 Tt
c. 4214 =Y. d. 3200 =t
29. What is the actual distance of India from north to south?
a. 3014 km. b. 3214 km
c. 4214 km. d. 3200 km
30 . AAHTH ATHATT o SATHATL TZAT T 3 AT Tohaeil g ?
a.45F0s b .46 FIE
.47 FE d .48 FE
30. According to the current estimate, approximately what is the age of
the earth?
a. 45 crore b. 46 crore
c. 47 crore d. 48 crore

31. T8¢~ TRIT- SETIA F HEE! | STl it AEd Tgers fhadt g ?
a. 1000 & 2000 Hiex b. 2000 # 3000 Hex
¢ . 1500 & 3000 #iex d. 750 & 1500 Hiex
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31. What is the average depth of alluvium in the Indus-Ganga-Brahmaputra
plains?
a.1000 to 2000 meters  b. 2000 to 3000 meters
c. 1500 to 3000 meter  d. 750 to 1500 meter
32. STHTH AT AHET FT AT — AT TA &3 AT FaAT ¢ ?
a. 11 =3t =+ b . 10 =3t ==
C. HHTT il @Tet d. s=H™ AN

32. Which water area separates Andaman and Nicobar?
a. 11 degree channel b. 10 degree channel
c. Gulf of Mannar d. Andaman Sea
33. Ao ® & 19 97 SAhaT F ARt 7§90 T g ?
a . faoop T b . & TIT
C . FOT AT d .33 YamT

33. Which of the following is the confluence of Alaknanda and Bhagirathi?
a. Vishnu Prayag b. Rudra Prayag
c. Karna Prayag d. Dev Prayag

34. ST % AP | qIHAATS o qe1T <ol § a9l e FHTor gt g 2

a . gferor — g2 A\ge b .3q%- TAT ATFEA
c . ofraron wfegefi Tsrara d . T AT IRE=ET

34. Why does it rain in the coastal areas of Tamil Nadu in the beginning

of winter?
a. South-West Monsoon b. North-East Monsoon
c. Temperate cyclone d. local air circulation
35. aT 4T sttawed F= Fafetea & @ o g & Raa g -
a. fagw b .3awrEve
C . 3qT T3 d . sufear
35. Nanda Devi Biosphere Reserve is situated in which of the following states —

a. Bihar b. Uttarakhand
c. Uttar Pradesh d. Orissa

36. FAAAIT o THTE AT § (AErerred | & fohadT Staerd &,a+1 &
T ZIAT ATRT?
a.33% b. 55 %
c.44 % d. 22 %
36. According to the forest policy, what percentage of the following area

is currently covered with forests? Should be subordinate?
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a. 33% b. 55%

c. 44% d. 22%
37. FATHT FT AT & —
a. T T b . oo TEE
C . 3= AT & d. ot F=ATETT
37. Tsunami means —
a. Severe earthquake b. Severe storm
c. Undersea earthquake d. Severe storm
38. =AW ¥ fohe &t | AN AT Fi7 Raa & 2
a .Jmm b . T
b . Tt d. Ry
38. In which of these rivers is Maijuli river island situated?
a. Ganges b. brahmaputra
b. Godavari d. Indus

39. AT & e TS § 9 AW Il & ?
a. AT AT ALAT A b, HTA T TEIT FAledh
¢ . U 3T fagw d . ATTEUE T gfr Srer
39. In which state of India does it rain mangoes?
a. Assam and West Bengal b. Kerala and coastal Karnataka
c. Punjab and Bihar d. Jharkhand and West Bengal
40. fRerferfea 1 & 7T "SI &7 90" & 0 & S S 82
a. TuEr b. Trear . wreft d. IR

40. Which of the following rivers is known as the “Sorrow of Bengal’?

a. Subarnarekha b. Teesta c¢.Koshi d. Damodar
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SRS AfSID 3olierrof Ud ufdreivr ufdug, i

Answer Sheet — Geography 11 (2023 -24)

1. a. ATAFSIST A gHled
2. b. =fagm™

3. c.14 F02 95 1T 98 FATX FhHT
4. REEET]

5. b. 3 — 4 T

6. a .J=AT % oI & FHILT
7. a. 200 frdT

8. a . JTIHE T

9. b.s@T it dtadar

10. a. ATHS AL

11. a. ATl Fg

12. ag g

13. b.g=AT T oA

14, C. Te fasqur

15. C. FAT- T T&Y

16. c. 120 et

17. b. 23.5 3T IaALT sreqter T2
18. b. 30 feIft 3. & 30 et 7. o1, & wex
19. a. 1013.25 fafeam=
20. c . faeft- fastrsr

21. a . qeT 4

22. C .16t a

23. d. wTE®

24. a.33-37%

25. C. 3T AT
26. a . FArsT

27. b . 4 T2

28, b. Errafiar

29. b. 3214 ffy

30. b. 46 FI=

31. a. 1000 & 2000 Hrex
32. a. 11 =3 ===
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33. d. 39 T

34, a. Treroft qierT ATaA
35. b. IqaETE

36. a.33 %

37. C. 3= AL ST
38, b. FETTT

39. b. F¥A T TEIT FATEH
40. d. ITETEY
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